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Questions

The period of cot 8xis

The period of sin X2 = Cos X/3 is

What is the period of sin 2x/3 cos 4x=?

What is the period of tan 4/3 x =?

What is the period of cos 6x =?

What is the period of 6 sin x=?

What is the period of 5 cot x=?

The period of the function csc x/4 us

The range of the tangent function is

21 is the period of

Tangentis ............... function

The period of 3 sin xis

The period of cos(7x-5) is

Answers Choice
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The period of 2 cos xis

The period of tan x/7 is

Sine is a periodic function and its period is

Tangent is a periodic function and its period is

The period of tan [x/3] is

The period of cosec 10x is

A. 3

C. 15m
D. 5m

A. <span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B.s

D. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgb(255, 255,
255);">4</span><i style="text-align:
center;">1r</i></div>

A. 2<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. 3<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

D. 4<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. 2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

B. <div style="text-align: start;">
<span style="text-align: center;
background-color: rgb(255, 255,
255);">4</span><i style="text-align:
center;">mr</i></div>

D. 5<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 224);"><i>m</i>
</span>

A. - sin<span style="color: rgb(34,
34, 34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>
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tan (77-0) =

The Domain of y = sin xis

The range of y = sin xis

Domain of y = cot x =

The range of y =cot x =

Domain of tangent function is

The function sine and Cosine have the closed internal as their range

Period of Cotangent function is

C. - cos<span style="color: rgb(34,
34, 34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

D. - cot<span style="color: rgb(34,
34, 34); font-family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 224);"><i>0</i>
</span>

B. Rational
C. Irrational no.
D. None of above

A1, -1]

C. [0, -1]

D. [-<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«~</i>
</span>+<span style="font-family:
&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>]

A. -<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>co</i>
</span>&gt; y &gt; +<span
style="color: rgb(34, 34, 34); font-
family: &quot; Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>

B. -<span style="font-family:

&quot; Times New Roman&quot;; font-
size: 24px; color: rgb(34, 34, 34);
text-align: center; background-color:
rgb(255, 255, 248);"><i>«</i>
</span>&gt; x &gt; +<span
style="font-family: &quot;Times New
Roman&quot;; font-size: 24px; color:
rgb(34, 34, 34); text-align: center;
background-color: rghb(255, 255,
248);"><i>c0</i></span>

D. None of above

A [1,0]

C. [0, 1]
D.[-1, 2]

=21

0°
. -<span style="color: rgb(34, 34,

AN fant fmmnilien O mvimliTiaman Klaua,

JW> 00w



30

Period of Tangent function is

o4 ), 1011L-1dImy. &«quol, 1Tes New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>mr</i>
</span>

D. 2<span style="color: rgb(34, 34,
34); font-family: &quot;Times New
Roman&quot;; font-size: 24px; text-
align: center; background-color:
rgb(255, 255, 248);"><i>m</i>
</span>



